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Signed Domination Number in Graphs
Yu Chongzhi Xu Baogen
( Basic Courses Department)

Abstract A two-valued function f defined on the vertices of a graph G = (V,E) .f £¥ >
(=L1lisa signed dominating function, such that for everyo € V, f(N v |)
= 1.The weight of a signed dominating function is f(v) = Ef(v) - The

€v

v

signed domination number of a graph G » denoted %(G) » equals the minimum
weight of a signed dominating function of G - In this paper, we establish its val-
ue for some classes of graphs, and discuss the bounds of %(G) -

Key words _graph: signed dominating functionsigned domination number



